84'-7" PAY LIMIT

e 10 SPACES @ 8-11/16" = 807"
29!_1 1 1/2" l_ ", l_ ",
T 28-3 T 2911 1/2
Fx. JT. Fx. JT.

Expansion L1 1 1 L1 L1 [ 1 L1 1 (| | L1 Expansion
Joint | I Joint
| | LI LT L1 i1 1 [T 1 [ [T
L L1 L L L L il I L1, LI L LL LL
| | see peTALL 4 SEE DETAIL ]| |~

2711 1/2" WEST RAILING FACING WEST 2711 1/2"
1-10" EAST RAIL SIMILAR 1-10"
<_3"10"_> _‘_31_10"_»
foom BILL OF MATERIAL
i ., 10" TEM gty | ParT 4 DESCRIPTION ASTM DESIGNATION
2 10 2 s 1 | 22 [0033.03610 |W6x25, THREE RAIL POST @ 2'-9” DA ON 1 1/4x10x1'-2" BP. |AS72 Gr. 50
2 & & J > | L & 2 | 4 [0033.91066 [HSS 3“ X 5" X 1/4" RAIL @ 27'-11 1/2" AS00 Gr. B
g g 31 A‘“ 3 | 2 003391067 [HSS 3” X 5 X 1/4” RAIL @ 28'-3* AS00 Gr. B
10" 21 1/16" (4x) 10" —- 5T } 4 | 8 [0033.91068 [HSS 6" X 6" X 3/16” RAIL @ 29'-11 1/2* AS00 Gr, B
$ ,h & SECTION A-A 5 | 4 [0033.91069 [HSS 6" X 6" X 3/16” RAIL @ 28'-3" AS00 Gr. B
17 6 | 4 [0033.00840 [2-1/8" X 4-1/4" FIX. SPLICE BAR @ 2'-3 AS572 Gr. 50
1/8" FABRIC PAD 11/8" DIA. HOLE/ 7P WPS-3008 7 | 8 [0033.00640 [HSS 5’ X 5” X S5/16” FIX. SPLICE TUBE @ 2'-3 AS00 Gr. B, AS72 Gr. 50
FOR 1" DIA. ANCHOR 0 8 | 22 [0033.00220 [3/8” X 10° X 14” ANCHOR PLATES A36
STUD (TYP.) ! OF POST 9 | 22 |0033.90050 [1/8 X 10’ X 14° FABRIC PAD AASHTO M25Si
o 11/2'— 10 | 88 |0042.21013 |# 1 X 13" ANCHOR STUDS, W/ 2 1/4” THD. EACH END A449 Gr. 1, CLASS 88
213 31/16" ‘ 11 | 176 008018901 [# 1 HEAVY HEX NUTS AS63
| ——] . [ , 12 | 88 [0080.18911 [# 1" FLAT WASHERS F436
) —37 1 - o A 13 | 88 [0080.18905 | 1 HEX JAM NUTS AS63
l 6" | j{ ' T 14 | 88 |0080,07500 |# 7/8” X 8° ROUND HEAD BOLT, NUT, SG. WASHER, L.W. A449, AS63, F436, ASME DI8.2
—iy L I/ ¢ of Round 15 | 22 008006400 [#¢ 3/4” X 8" HEX BOLT, NUT, @ F.W., & L.V, A325, AS63, F436, & ASME DI8.2
A 3 ot 3 ' Hoad Boltwith | 16 | 44 [0080.06140 |8 3/4” X 2-3/4" HEX BOLT, NUT, @ F.W., & LW, A325, AS63, F436, & ASME DIB.2
HSS 6" x 6" x 3/16" : 147" T ==
1 = Hex Nut, 17 | 32 [0080.06340 |# 3/4” X 7-1/2” HEX BOLT, NUT, & (@ F.W. A325, AS63, & F436
N — I | Washer and 18 | 16 [0080.06255 |# 3/4” X 4-1/2" HEX BOLT, NUT, & (@ F.W. A325, AS63, & F436
W6 x 25 ! ! 1' Spring Lock 19 | 22 [0033.00500 [L5” X 5’ X 5/8” RAILING ANGLE @ &’ AS572 Gr. S0
\ & ol Washer 20 | N/A DELINEATORS (SUPPLIED BY CUSTOMER)
_____ N (Typical)
) I un |
I L5" x 5" x 5/8"
HSS 5" x 3" x 1/4" —| ‘@: 8" Railing Angle \ Q1O { 100 Spring Lock Washer
[~—1'-4 5/16" \ b———— —_— _r_ —— %I 3/16" x 2" x 2" Washer
12" x 1-1/4" x 10" i 31 % _____ e o 0T\ ve i prue AT
5 ! , ! DETAIL 1
Base Plate 1 @ % mm-l [
1/8° FABRIC PADQl _lﬂl. 4 ;l A ! Al; POST 1 & &
| ! H || |' | (] | nm 14" - g = [—3e
| il Il "y 13" Il i 10" ~l—1e
1“ —— 14) @ 1" x 13" ANCHOR STUDS " 011" @ WW1 &4 11" @ WW1 & 4
: : : : W/ 2 1/4" THD. EACH END & :': | :': | 7 o /‘@5" 0-8" @ WW2&3 144" @ WW2 &3 ROUND HEAD BOLT
| l (2) HEAVY HEX NUTS, %% I % % o b
= (1) JAM NUT c === ) Z{" & ‘R -4
! @F AND (1) WASHERS EACH | P~ g" ! ITEM #: 525.335 F.R. LAFAYETTE, PITTSFIELD | SHEET 1 0F 2
\-¢_ OF RPILING ANCHORAGE N [\J j 19" \U 21 1/16" (4x) | APPROVED BY: BR[DGE RAH, DETAILS SHEET
| | ! _g PITTSFIELD, ER BRF 022-1 (23), VT ROUTE 100, (MINOR ARTERIAL) BRIDGE 124
| _TOWN OF PITTSFIELD, RUTLAND COUNTY, VERMONT
l R|NO. | DATE DESCRIPTION BY| R [NO.| DATE DESCRIPTION BY
" E 3/17/14 |REVISED PER 3/12/14 MARK-UP|EP| E
ELEVATION Lg ROADSIDE (L /12] G
. —— ” DRAWN EP 2/414
SECTION i ELDERLEE,INC. QDo siroes ot
STEEL BRIDGE RAILING ANCHOR PLATE &Y 0AKS CORNERS, NEW YORK 14578 APPROVED | . -
E-Mail: dlong@elderlee.com SCALE SCHEMATIC
Tel:315-789-6670 Fax:315-789-6615 DRAWING NO.F.R LAFAYETTE, PITTSFIELD




SPLICE BAR - FIXED

2';3“ oy /2"
204" col | 1ol
" * 4l % % o
S S I |
23" —{ 172" 22 - i S T -
M pom ] RN
——" Typ. DY "6z ____/__“_%"_—_I::_‘—‘I“‘l" | !'i' 1 | _HoLEsong PLAN
%ﬁ % - — (o <o o o) = O e N FIXED TUBE SPLICE ASSY.
; = S e ——— HSS 5" X 5" X 5/16" @ 2' 3" "
% w :J i __l"__é / (JD (\ ° PLAN Galvan?zed E')Iftlt?e@ #3 WPS-3009 0%" . Ciin_;[_irplir;e E;);tft?) ;/8‘}
o 2g" . ; —_ Typ: 0
K ‘/ PLAN \———Q%" ﬁﬁ”}ig'?gét%;’ if ¥ 6" X 6" X 3/16” Tube (Typ.)—_
41/4" X 21/8" X 2' 3" 5" X 3" X 1/4" Tube (Typ) 4" X 1/4" X 26" Fill Plate =
Galvanized Bar '|l .'. .l. .I. ,—2%“ L_ . (Each Side) _ N
| [ |i| |i| |i| |i| | | ’ ﬁ_ : ! ' r. . . | | ; ;
(4) 3/4" Fully Threaded Bolts. 4 1/2" Long [ | | | (4) 3/4" Fully Threaded Bolts. 7 1/2" Long
FIX%I oE ELEVATION (ASTM A325, TYPE 1) 2 Washers and a Heavy WPS.3000 [ ' ' | ! ED %% - (ASTM A325, TYPE 1) 2 Washers and a_
FIXED BAR SPLICE ASSY.  Hex Nut on each Bolt. Nut to be Finger Tight T ASSY. Heavy Hex Nut on each Bolt. Nut to be Finger
and the First Thread below the nut to be Yo~ 158 Tight and the First Thread below the nut to be
damaged A.O.B.E.. 4 Bolts at Each Splice. 4"x 1/4" x 26" Fill Plate ELEVATION damaged A.O.B.E.. 4 Bolts at Each Splice.
(Bottom) FIXED SPLICE TUBE SPLICE TUBE - FIXED
12"
- GENERAL NOTES:
BRIDGE POST DETAIL 10
7" 1) ALL RAILING IS TO BE FABRICATED AND ERECTED ACCORDING TO SECTION 525 OF THE STANDARD
| 2 SPECIFICATIONS.
2" 5 [ o 2) PRIOR TO GALVANIZING THE ASSEMBLED POST, GRIND ALL EDGES TO A MINIMUM RADIUS OF 1/16".
a " 3) BOLTS SHALL BE TORQUED SNUG TIGHT (APPROXIMATELY 100 FT-LB).
10" B 4) RAIL TUBE EXPANSION JOINTS SHALL BE PROVIDED IN ANY RAIL BAY SPANNING THE END OF AN
e O INTEGRAL ABUTMENT BRIDGE AND AT ALL SUPER STRUCTURE EXPANSION JOINTS. EXPANSION JOINT
WIDTH SHALL BE 4"@ 68°F AND WILL BE ADJUSTED IN THE FIELD BY THE ENGINEER FOR OTHER
v TEMPERATURES.
FOR 1 DIA. ANCHOR WPS-3008 5) RETROREFLECTIVE MATERIAL SHALL MEET THE REQUIREMENTS OF SUBSECTION 750.08 AND on
STUD <TYP) SHALL BE A .063" ALUMINUM BACKING WHITE OR YELLOW REFLECTOR. WHITE IS TO BE INSTALLED ON _
THE DRIVERS RIGHT. FOR ONE WAY BRIDGES , YELLOW IS TO BE INSTALLED ON THE DRIVERS LEFT. A,, ';m;__]
3 116" 6) PROTRUSIONS CAUSED BY WELDING OR GALVANIZING ARE NOT PERMITTED ON THE ADJOINING | 2 1/2"
i ) ! | SURFACES OF THE BOX BEAM RAILS, SPLICE TUBES AND FILL PLATES. 1 1/2"] 1
[ v e 7) THE MINIMUM DISTANCE FROM THE POST TO AN EXPANSION JOINT SHALL BE DETERMINED BY THE o
l__ - 0 “ [ MINIMUM EDGE DISTANCE OF 5" FROM ANY ANCHOR STUD TO THE END OF THE SLAB, OR THE n__
|4y EXPANSION JOINT RECESS POUR, IF ONE IS USED. ) \
H 9" ” 8) ALL POST SHALL BE SET NORMAL TO GRADE. THE MAXIMUM CENTER TO CENTER SPACING OF "5/8 13"
I N\old o) BRIDGE RAIL POST IS 8' 3" '
- ) o || N 16 9) ANY BENDING OF RAIL SHALL BE DONE AT THE FABRICATION PLANT. RADIl GREATER THAN 16' TO é" | o13/16"
0 AT Dwexes BE CURVED ON A TUBE BENDING MACHINE, RADII LESS THAN 16' TO BE "PIE CUT" AND WELDED. N
. . 995" I 10) STD. SPLICE HOLES ONLY IN BRIDGE RAIL TUBES. REST TO BE DRILLED BY CUSTOMER. FIELD . (3X)
2-73/4 25 1/2" I DRILLED HOLES TO BE COATED WITH AN APPROVED ZINC-RICH PAINT PRIOR TO INSTALLATION. L5 x 5 x 5/8"
” /-G%" (x2) 11) THIS RAILING MEETS THE REQUIREMENTS FOR A TL-4 SERVICE LEVEL. RAILING ANGLE
e - ol & ITEM #:525.335 F.R. LAFAYETTE, PITTSFIELD [ SHEET 2 OF 2
[ 15
| o 62 APPROVED BY: BRIDGE RAIL DETAILS SHEET
” O/ PITTSFIELD, ER BRF 022-1 (23), VT ROUTE 100, (MINOR ARTERIAL) BRIDGE 124
i O || TOWN OF PITTSFIELD, RUTLAND COUNTY, VERMONT
Il DATE] DESCRIPTION B8Y] R [NO.] DATE DESCRIPTION | BY]
” 3 iREVISED PER 3/12/14 MARK-UP|EP| E
) [ F1 1/4" 1 1l 1 fm v
l ! l l ! l ' L ! l l ! L] ¥ ELDERLEE.INC. F@);%ﬁ&%@l SSS&NED gf giﬁ:
0AKS CORNERS. NEW YORK 14578 — APPROVED | . .
10° E-Mail: dlong@elderlee.com SCALE SCHEMATIC
Tel:315-789—-6670 Fax:315-789-6615 DRAWING NO,F.R LAFAYETTE, PITTSFIELD




HSS 6"x6"x3/16" Rail
@17-111/2"

HSS 6"x6"x3/16" Kickback
@ 9'-0" w/End Cap

- PAY LIMIT FOR TRANSITION - BRIDGE RAILING TO BOX BEAM GUIDE RAIL

ELEVATION VIEW

||A|| I
"B"
] =
o ! .
9"TO "c" v Last Bridge Post
GROUND 1 11 113 NER LA —— — i AR R IRER REN R AR oo i oo e
T T L) T L) T L) T L3 f L) T (] () L L) T () T L] T T T T
1 " "
S3x5.7 Post @ 3'-8 53x5.7 Post @ 63" w/Spade S3x5.7 Post @ 7-0" w/Spade \ W6x9 Post @ 7'0" w/ Spade
L} n H 1} " . ke
w/Spade @ 3-0" Spacing = 15'-0 @ 2'-0" Spacing = 6™-0" @ 2'-0" Spacing = 6'-0" (3ea.)
3 BN 2 \4/
HSS 6"x8"x1/4" Tube
HSS 6X6X3/16\ Blockout @ 8" /6 I - .
I I I T I I I I I I o T A WA A
{ \ 1® ® ® O \ \ / | oo ao |+] co cw | 5
1/2"— — L—4"
HSS 6x6x3/16"
\ T
I I I I I Q- A n nu "
/ < B = B
SEE ADDITIONAL SHEETS fFOR DETAILED VIEWS
1 1
BILL OF MATERIALS, WwWw 1 & 4 |' c+> )y "c"-"c"
ITEM #| QTY. | COMPONENT # DESCRIPTION MATERIAL (ASTM) " T T § §
1 3 01357021 |3° T-POST, PUNCH & W/SPD € 63’ LG ASTM AS72 Gr. 50 —lgnle— laq'-1Q"—n
2 3 013.57025 |3’ I-POST, PUNCH 8°, & 20° W/SPD @ 63° LG ASTM AS72 Gr. 50
3 z 01357060 |3° T-END POST W/SPD € 3-8° LG ASTV A572 Gr. 50
4 4 0013.090 W6X9 POST @ 7/ W/SPD & 5/8° HOLES ASTM AS72 Gr. 50
5 7 01357010 |3° I-POST, PUNCH & & 207, W/8X32" SPADE &7 ASTM A572 Gr. 50
[ 1 13X5° BTM TRANS RAIL W/5'-0° KB, EXP END ASQ0 Gr. B
7 1 HSS 5X3 TUBE SPLICE €27° G W/ 174" SHINS A500 Gr. B 7 AS72 Gr 50
5 ) 730 |FSS S5 EXP TUBE SPLICE @ 3¢’ LG W/ 174" SIS AS00 Gr. B 7 A572 Gr 50 .
N - ey TXP ToR SPLIGE 21/ X 4TS a6 IS R WA ITEM #:621.725 F.R. LAFAYETTE, PITTSFIELD | SHEET 1 OF 8
10 | 15 | 005400050 |REG BB SHELF ANGLES @ 4-1/2" ASTH A36
12 1 05400074 |HSS 5X5 DBL BEND TUBE SPL € &7° LG. AS500 Gr, B 7 AS72 Gr 50 APPROVED BY: GUARD RAH, TO BRIDGE RAH, TRANSIT]ON DETAILS SHEET
338 05400563 [6X8" TRANS. TUBE B/0 € & LG A500 Gr. B
HARDWARE NOTES T3 05400565 [6X8” TRANS. TUBE B/0 € 3' LG *E0 T PITTSFIELD, ER BRF 022-1 (23), VT ROUTE 100, (MINOR ARTERIAL) BRIDGE 124
ITEM # FUNCTION 5 1 054.09000 |6X6” BB € 9'-0° KICKBACK, W/ CAP A500 Gr. B 7 A% TOWN OF PITTSFIELD, RUTLAND COUNTY, VERMONT
e L T S e Y T6 | 05 | 005418000 [eXe” BB € 17-11 1727, DRILL 3’ CC; AS00 Gr. B DATE | DESCRIPTION BY| R [NO.| DATE | DESCRIPTION _|BY|
1__|BOLT BLOCK-OUTS CITEM ®'S 13 & 14> 70 HEAVY POST T2 . 05490092 _16X6" BD TOF TRANS € 209 5/5° LG W/LXP END Aov0 5 B 3/17/14 [REVISED PER 3/12/14 MARK-UP|EP| E
2 E4> PER SPLICE BAR (ITEM #9) }g 118 gj: ;—22: g)/(g' 5375342’“:?;3 ENE':' -1 g/?wLG TR A30750:Sgg. ?436 | v
53 [c4> PER SPLICE TUBING <ITEM A'S 7 & & & 2 FOR ITEM #12, & RAIL 70 BLOCK-OUTS 20 T 5 | (08004100 [I787 % 1-172” BOLY, NUT, & FV A307, AS%3, F436 i@ o DRAWN E.P. 2/18/14
21 22 080.04120 [1/2° x 1-1/2° BOLT, NUT, 2 FW & LW A307, AS63, F436 )2 ICATO!
ae 4 6255 [3/4° X 4-1/72° BOLT, NUT, 2 FW A325, AS63, FA36 ELDERLEE -[NC SPABRICAT R (A::PE'::OKVEEg D.L 2non4
23 | 20 340 |374° X 7-172° BOLT, NUT, 2 FW A325, 563, F436 S 0AKS CORNERS, NEW YORK 14518 : :
(ITEM 11 NOT USED 24 3 370 [3/4” X 8° CARR BOLT, NUT, FW & LW A307, ASE3, F436 E-Mail: dlong@clderlee.com / epeek@eldriee.com SCALE SCHEMATIC

Tel:316-789—-6670 Fax:315--789-6615

DRAWING NO.F.R. LAFAYETTE, PITTSFIELD




ELEVATION VIEW

- PAY LIMIT FOR TRANSITION - BRIDGE RAILING TO BOX BEAM GUIDE RAIL

HSS 6"x6"x3/16" Rail
@17-11 12"

HSS 6"x6"x3/16" Kickback
@ 9'-0"w/End Cap

- ——— e e o ———— e e AN
N ° o ! 1 H ° o —I-— A
o .11, S e T R +
29 7 i ' t o ° ———————— —-_-é'-_STI "B"
[T I EREUUO N I e | T T _|
or - i a5 QNN U S - A = —
1I7 © 0 11 | 1 "9 o | 1
| | 1
1
Last Bridge Post V \EI‘
[
nn non non Mon e N M B Inin NN
Lok RN ot RN AN AR ] , ALl AR NEN
(a1l n _qn J
W6x9 Post @ 7'0" w/ Spade S3x5.7 Post @ 7'-0" w/Spade | S3x5.7 Post @ 63 w/Spa"de 83x5.7 Post @ 3-8
@ orqg" Spacing - 6'-0" (Sea.) @ 2r.0" SpaCIng =6'-0" @ 3-0 SpaCIng =150 W/Spade
9"TO
\4/ 2 3 -
(5 GROUND
I HSS 6"x8"x1/4" Tube
= = Blockout @ 6" HSS 6x6x3/16 \ HSS 6x6x3/16\
“A"'"A" o T = I I I I I I T I I I
» EXmeE il ] ) @ 0| ©® © / Y
pra 1/2
| HSS 6x6x3/16™ HSS 6x6x3/16"
) [} . \
N ﬂjjn ) I X X X X X
B"-"B" < o @ 1] <o <o | <
N3/ SEE ADDITIONAL SHEETS FOR DETAILED VIEWS
l 1 ! I}
nGrrG ¢ T Ty - —— [ ——— BILL OF MATERIALS, WW 2
¢ <1'3 7 I fmeed TTEM #] GTY. | COMPONENT # DESCRIPTION MATERIAL CASTM)
1'-10" N YY) T 3 01357021 |3° 1-POST, PUNCR & W/SPD @ 63° LG ASTH AS72 Gr. 50
2 3 01357025 _[3° I-POST, PUNCH ©7, & 20° W/SPD € 63° LG ASTM A572 Gr. 50
3 2 013.57060 |3° I-END POST W/SPD € 3-8° LG ASTH AS72 Gr. 50
3 3 0013.05001 _[WeX9 PUST € 7° W/SPD & 5/8° HOLES ASTH AS72 Gr. 50
5 7 013,57010 _[3” I-POST, PUNCH 8’ & 20°, W/8%X32’ SPADE €7 ASTM AS72 Gr. 50
3 T 3 3X5" BTM TRANS RAIL W/5'-0° KB, EXP END AS00 Gr. B
7 1 HSS SX5 TUBE SPLICE €27° LG W/ 1747 SHINS AS00 Gr. B 7 AS572 Gr 50
3 2 730 [HSS S%5 EXP TUBE SPLICE €@ 36’ LG W/ 174" SHIMS AS00 Gr. B 7 AB72 Gr 50
—t— 0530 B EXP AR SPLICE 178" X #1747 € 36 [ ST 36 ITEM #: 621.725 F.R. LAFAYETTE, PITTSFIELD | SHEET 2 OF 8
0 | 19 054,00050 |REG BB SHELF ANGLES € 4-1/2" ASTH A36
2 1 0054.00074 [HSS SX5 DBL BEND TUBE SPL € 27 LG, AS00 Gr, B 7 AS72 Gr 50 APPROVED BY:
Te |1 [ ursadiozs 4SS S¥S DR END TUBE SPL ¢ 3 7R GUARD RAIL T0 BRIDGE RAIL TRANSITION DETAILS SHEET
v 5 5400565 EXe TRANS —TUBE 5/0 € 3 LG 2500 Gr B PITTSFIELD, ER BRF 022-1 (23), VT ROUTE 100, (MINOR ARTERIAL) BRIDGE 124
15 1 054.09000 _|6X6° BB € 9'-0° KICKBACK, W/ CAP AS00 Gr. B 7 A36 TOWN OF PITTSFIELD, RUTLAND COUNTY, VERMONT
16 | 05 054.18000 [6X6’ BB €@ 17'-11 1/2°, DRILL ¥ CC. AS00 Gr. B
17 1 054.50092_|6X6” BB TOP TRANS € 209 5/8° LG W/EXP END ASQ0 Gr. B 2 NO. ;@}5 IREVI?EEDngRRI'P;}?;l/1 = WARKSUP g; E NO.| DATE DESCRIPTION _ |BY]
15 1 054.50093 [6X6’ BB BTM TRANS € 21'-4 5/8° LG W/EXP END AS00 Gr. B 1
9 [ 18 08003355 379" X 7 1787 BOLT, NUT, & & FW A307, AS63, F436 v N
|2 siessine /e s /2 BT NUT E PV STV A7 563 FH% a@‘* SCERTIED|-ORAWN T Ep. [ 27ieria
22 | % | 008006555 [3/4" X 4-172° BOLT, NUT, Z 7V A3ZS, ASe3, FA%E ELDERLEE,INC. fIZ)/<msRcAcr]| CHECKED | DL 2119114
23 | 20 [ oteooe30 [37&° X 7-172" BOLT, NUT. 2 FV A325, AS63, FA36 0AKS CORNERS, NEW YORK 14578 APPROVED | . -
E-Mail: dlong@elderlee.com / epeek@eldriee.com SCALE SCHEMATIC

Tel:315-789-6670 Fox:31656-783-6615

DRAWING NO.F.R. LAFAYETTE, PITTSFIELD




32" -

PAY LIMIT FOR TRANSITION - BRIDGE RAILING TO BOX BEAM GUIDE RAIL

ELEVATION VIEW

3'_7“
HSS 6"x6"x3/16" Ralil

@16'-2 1/4" W/ Partial 16'
Radius & Typical End Ass'y]

SENR N e s 54 1
ogr h ¥ 5 —-— == [~
rd u It ] {l{ [ o "3" |
wese o L ol oo | L T 3 el
o 5% S0 S S N D I S = S— = E— -
17 99 it T o i | - —| H 11 =
L1 .
n ]
Last Bridge Post V "o
oL i A oL AN AN Pl RN AR RN RERES — 1
W6x9 Post @ 7'0" w/ Spade S3x5.7 Post @ 7'-0" w/Spade | S3x5.7 Post @ 63" w/Spade S$3x5.7 Post @ 3-8" _/
@ 2'-0" Spacing = 6'-0" (3ea.) W @ 2'-0" Spacing = 6'-0" @ 3'-0" Spacing = 15'-0 w/Spade
9"TO
2l 3! 1
(5 GROUND
HSS 6"x8"x1/4" Tube
S S I Blockout @ 6" HSS 6x6x3/16 \
IIAII_IIAII = T = I I I I I I T I I I I
4 Voo @ |+ Y i @ ® B / |
4" . <_1/2"
HSS 6x6x3/16"
[« o \
uQu npn AT" I I I X I T
B"-"B 4 | o a0 j+| cw o ! A\
NE SEE ADDITIONAL SHEETS FOR DETAILED VIEWS
i L i !
uCu_uClv ( \ | | H } i - T BILL OF MATERIALS; WW 3
¢ 413 I i ITEM ¥ QTY. [COMPONENT # DESCRIPTION MATERIAL CASTID
l—'-1 Q" —=lg" - 1 3 013.57021_[3° 1-POST, PUNCH 8° W/SPD € 63' LG ASTM AS72 Gr. 50
z 3 01357025 |3° 1-POST, PUNCH 8, & 207 W/SPD @ 63 LG ASTH AS72 Gr. 50
3 2 001357060 |3" I-END POST W/SPD € 3-8 LG ASTH A572 Gr. 50
7 7 0013095001 _[W6X9 PUST @ 77 W/SPD & 5/8° HOLES ASTH A572 Gr. 50
5 [ 001357010 |3° 1-POST, PUNCH ©° & 207, W/8X32’ SPADE €7 ASTH A572 Gr. 50
3 T 3380403 |3%5° BTM TRANS RAIL W/5'—0° KB, EXP END AS00 Gr. B
7 1 640 _|FISS 5%o TUBE SPLICE €27° LG W/ 174’ SHIMS AS00 Gr. B /7 AS72 Gr 50
3 z 730 [HSS 5x5 EXP TUBE SPLICE € 36° LG W/ 1/4° SHINS AS00 Gr. B 7 A572 Gr 50
11 930" (IR EXP BAR SPLICE 2-1/8° X 4-U/% € 367 IC AT RS ITEM #:621.725 F.R. LAFAYETTE, PITTSFIELD | SHEET 3 OF 8
0 19 | 0054,00050 |REG BB SHELF ANGLES € 4-1/2 ASTM AG6
2 1 054.00074 |HSS SX5 DBL_BEND TUBE SPL @ 27° LG ASQ0 Gr. B 7 AS72 Gr 50 APPROVED BY: CUARD RAHI TO BRIDGE RAHI TRANS[T]ON DETAH’S SHEET
N X T (0 7 LETRRR PITTSFIELD, ER BRF 022-1 (23), VT ROUTE 100, (MINOR ARTERIAL) BRIDGE 124
15 1 005409000 }__sxs' BB @ 90" KICKBACK, W/ CAP AS00 Gr. B /7 A6 TOWN OF PITTSFIELD, RUTLAND COUNTY, VERMONT
o o Sty UL 3 00 V7 T T O SEcTOn mor e ? RING. [ DATE] _DESGRIPTION BYT R [No.T DATE [ DESGRIPTIoN 6
® 1 054.90093 [6X6" BB BTN TRANS & 204 5/8° LG W/EXP END 500 Gr, B El 1 | 317/14 REVISED PER 3/12/14 MARK-UP|EP| E
19 | 18 08003355 [3/8° X 7 172° BOLT, NUT, & 2 FW A307, A563, FA36 v v
20 | 19 | 008004100 [i/2° x 1-172" BOLT, NUT, & FW A307, A563, F436 g CERTIFIED DRAWN EP. 21814
21 [ 22 | ooso04120 [1I72° x I-172° BOLT, NUT, 2 FW & LW A307, A563, 436 @ 2
22 4| 008006255 [3/4° X 4-1/2° BOLT, NUT, 2 FW A325, A563, F436 ELDERLEE,INC. ey <FABICATOR| fr:R%ﬁg DL. 29/14
23 |20 [ 008006340 [3/4° X 7-1/2" BOLT, NUT, 2 FW A325, 563, F436 0AKS CORNERS, NEW YORK 14518 : :
E-Mail: dlong@elderlee.com / epeek@eldriee.com SCALE SCHEMATIC

Tel:3165—-789-6670 Fax:316—-789-6615

DRAWING NO.F.R LAFAYETTE, PITTSFIELD




PLAN VIEW
=

1/4" X 8" X 24" SPADE

A L
L1
&}
al,. i [ \2 13/16 HOLE
i 1] Forcaw
1 8" II !
| |
35" |
5/8" HOLES 1 i
| @ reap H
i |
! ! 63"£1/8" ! 1/4" 23/8"
| |_ | WPS 3040
[} 1] \ !
! ! WPS 3040 !
i N |
i|i 14" |/ 2-11 i
i/ |
4”+|1/8" ! !— !
—L — J— 14" 23/8"
FRONT C(ITEM # 2> sipe "%
PLA_NIYIEW P/N: 0013.57021
g s B

1/4" X 8" X 24" SPADE

g

5.
8 .
I _rd
1 x
I | N2 13/16" HOLE
il 1| <¢ORrR GALW»
5/8" HOLES |
(2 REQD i
)
35" |
)
1
|
63"t1/8" I
! 14/ 238
= | WPS 3040
\ \
WPS 3040 !
N |
14" /241 i
)
/ |
' - |
418"
- L L [
WPS 3040
FRONT (ITEM # 1)  SiDE

P/N: 0013.57025

#

c'—

PLAN VIEW

P/N: 0013,57060

g
I | 4
I :1/4" X 8" X 24" SPADE

_ct¥

S
¥

-
N

' N\@ 13 /16" HoLE
s | (FOR GALY)
| I\g 5)/8" SLOTS "i
1 |/ 230"
! !__ ! WPS 3040
! ! aqs1/8" !
| | WPS 3040 |
| i |
Z 131 H
| |
L |
4i_|1/8—_LJ_ CITEM & 3 ___I_ 114" |/ 2 38"
- SIDE WPS 3040
3/~7"
y
3? ¢| fo
' RAIL/
SUPPORT
ANGLE

3 V4

PLAN VIEW

e

1/4" X 8" X 24" SPADE

HSS6><6><3/16’/

GROUND LINE

BOLT W/ NUT & TwO WASHERS

ND COVER PLATE

P/N: 0013.09001

3o -
Ml L,
P R
| * | v - [\ 13 /16" HOLE
(FOR GALV)
133 i i 163"
a5d l T\\ﬁ 5/8"
ii (6 REQ'D)
J—'Oib -
H
| ~wex 9 1BEAM
WPS 3040
1w [ 2
\
WPS 3040
N
14/ 2-10
/
B WPS 3040
14 /2
16"
L
CITEM # 45
FRONT SIDE
ONNECT BEAM TO RAIL SUPPORT
ANGLE W/ 93/8'x7 1/2" HEX GENERAL NOTES:

P/N: 0013.57010

PLAN VIEW
=

1/4" X 8" X 32" SPADE

!

N_g 5/8" HOLES
(4) REQD

84"£1/8"
WPS 3040

N
14"/ 240

15"+1/8"

—————————  — —  ————  —— — —  — —  ————  —— ————— ——§ ————————— $———

e e e e e e e e

CITEM # 35

iy

[T
\0 13/16" HOLE

(FOR GALY)

/ 174" ; 23/8"

WPS 3040

FRONT

1) ALL RAILING IS TO BE FABRICATED AND ERECTED ACCORDING TO SECTION 525 OF
THE STANDARD SPECIFICATIONS.
2) BOLTS SHALL BE TORQUED SNUG TIGHT (APPROXIMATELY 100 FT-LB).

3) PROTRUSIONS CAUSED BY WELDING OR GALVANIZING ARE NOT PERMITTED ON THE
ADJOINING SURFACES OF THE BOX BEAM RAILS, SPLICE TUBES AND FILL PLATES.

4) BOX BEAM TUBE AND STEEL POST MATERIALS, DIMENSION SIZES AND NOTES SHALL
BE THE SAME AS THOSE OF THE BRIDGE RAIL, UNLESS OTHERWISE NOTED.

5) ANY BENDING OF RAIL SHALL BE DONE AT THE FABRICATION PLANT. RADII GREATER
THAN 16' TO BE CURVED ON A TUBE BENDING MACHINE, RADII LESS THAN 16' TO BE "PIE

STRAIGHT TO ACCOMADATE SPLICES.

+—S3x5.7 POST

L

SUPPORT ANGLE
(CONNECT TO END
POST W/ ONE @1/27
x 1 172" HEX BOLT
W/ NUT & WASHERD

TYPICAL END ASSEMBLY DETAIL

RAm///

—S3x5.7 POST

ITEM #: 621.725

CUT" AND WELDED. CURVED RAILING WIIL HAVE AN 18" LENGTH ON EACH END

F.R. LAFAYETTE, PITTSFIELD

WPS 3040

| SHEET 4 OF 8

APPROVED BY:

GUARD RAIL T0 BRIDGE RAIL TRANSITION DETAILS SHEET

PITTSFIELD, ER BRF 022-1 (23), VT ROUTE 100, (MINOR ARTERIAL) BRIDGE 124

TOWN OF PITTSFIELD, RUTLAND COUNTY, VERMONT

NO. | DATE

DESCRIPTION BY| R [NO.| DATE

DESCRIPTION

BY]

1 31714 |REVISED PER 3/12/14 MARK-UP|EP| E

\

R
E
v

ELDERLEE,INC. M

7 0AKS CORNERS, NEW YORK 14518

—Mail: dlong@eclderiee.com / epeek®@eldriee.com
Tel:315-789-6670 Fax:315-789-6615

DRAWN

E.P. 2/18/14

CHECKED | D.L.

2/19/14

APPROVED

SCALE

SCHEMATIC

DRAWING NO.,F.R LAFAYETTE, PITTSFIELD




BACK VIEW

T t T ]
(WPS-3007) 6 'b'_l ———————————— T ——— -+
(DB-UIVB f \: . | DI/
o o s L pnn i mma e s 6 X 6 X 316" VELDED
| (TOP & BOTTOM) )
> —‘f%i_ﬁ'g—_ _':"jr"—'_—__'_—__'_—__'_
b " 44 TOP VIEW
o
o
3' 11}
TOP VIEW ,, HSS 6x6x3/16
4 7 \ |
3-10° 6’ j&'_q’\f'_-_'_'_'_' e S/ I
. TACK WELD O .
. 1 .10 1/4* END CAg\_L \D 7/8" \Q) 172" Al
J—E et — ] — .. (TOP & BOTTOMY (TOP & BOTTOMD
b T 1 o
2 % 1” HOLES FRONT _VIEW CITEM # 6 ———MITER @ 12.5 ® 5/8” HANGIN
(FRONT & BACK) HOLE FOR GALV
CITEM # 15 (TOP & BOTTOMD
TOP VIEY /2" HOLES 7 e oL
. ” B TOP+BOTTOM (TYPD 6x6x3/16" !
10} 1’6 x4 SLOT 6 REQ'D HSS Bx6x3/1 TOP+BOTTOM
TOP+BOTTOM ‘ 2 REQ'D\\ »
= [ i
b | | '\
A — — T — e — T — e — e — e — I
| | o
5-10"
710"
910"
11-10"
14-10"
17'-10"
2092
1’ HOLES E VIEW
FRONT+BACK (TYP.) SID “ 10§ |-
. 2 REQ'D A
I / | | | | | L
¢t e - — T — e —— I e —— B —— +—
- l I T | i —
t 1'-10"
5100 CITEM # 17)

ITEM #: 621.725

F.R. LAFAYETTE, PITTSFIELD

| SHEET 5 OF 8

APPROVED BY:

GUARD RAIL T0 BRIDGE RAIL TRANSITION DETAILS SHEET

PITTSFIELD, ER BRF 022-1 (23), VT ROUTE 100, (MINOR ARTERIAL) BRIDGE 124
TOWN OF PITTSFIELD, RUTLAND COUNTY, VERMONT

DESCRIPTION BY| R |[NO.| DATE DESCRIPTION

BY]

DATE
3/17/14 |REVISED PER 3/12/14 MARK-UP|EP| E
N

.\ <ma

E'-—M(ul dlong®@eclderlee.com / epeek@eldrice.com

DRAWN E.P. 2/18/14

CHECKED [ D.L. 2/19/14

ELDERLFEE,INC. w

OAKS CORNERS, NEW YORK 14618

APPROVED

SCALE | SGHENATIC

Tel315 789-6670 Fax:315-789-6615

DRAWING NO.F.R. LAFAYETTE, PITTSFIELD




1/2” HOLES
" MITER CUT FOR
103 . , TOP VIEW  TOP+BOTTOM (TYP) " e
1 1"9 x4 SLOT ¢ REQ'D HSS 6x6x3/16 DRILL #7/8" HOLE 9'-0" KICKBACKS
4dr — ’— /TDP+BEITTDM TDP+BDTTDM\ e1e-1/2
: ! :
e s e A T— o — T —— I —— T ———— T —— T —— T — -
o T | i -
5-10"
7-10"
9'-10"
11-10"
14-10"
17'-10" 5
2143
L HOLES SIDE VIEW
) FRONT+BACK (TYP.D
[ c R | | | | | |
o S st D Ses—— ———— e et esie— e — e ———— -
| | ] ] | | [
' fe———— 110" ———
3-10" CITEM # 18
1/27 HOLES HSS 6x6x3/16" .
7/8” HOLES (TOP & BOTTOM @7/8" HOLES
(TOP & BOTTOM S REQ'D (TOP & BOTTOMD — 6
| VA S I ———— A e —— —— Ny N _3i
| |
SOy vy T
2 - 4§..
2113 1
5-113" 103
g-113"
1113
14113
17-114"
| | | [ | f | | | [°
T | ! | ! ! I
L | I | | | A1
] 1 ] | i | | ] 1
CITEM # 16 - WW 1, 2,& 4
GRIND TO 1/8° R. 5 ITEM #:621.725 F.R. LAFAYETTE, PITTSFIELD | SHEET 6 OF 8
AFTER WELDING "
172 "TRam HoLE>” 5 APPROVED BY: GUARD RAIL TO BRIDGE RAIL TRANSITION DETAILS SHEET
Ly 1 PITTSFIELD, ER BRF 022-1 (23), VT ROUTE 100, (MINOR ARTERIAL) BRIDGE 124
3. | f | TOWN OF PITTSFIELD, RUTLAND COUNTY, VERMONT
‘ 16 5.1 . R[NO. | DATE| DESCRIPTION BY] R [NO.| DATE | DESCRIPTION _|BY|
6|" 54“ J, 5 1 3/17/14 [REVISED PER 3/12/14 MARK-UP|EP 5
_____ [N
I 3. @% /| \R%" ELDERLEE,INC. F@)E%E;Eﬂ%% g::(\:l\'l(béo sf g:ggi
16 WY OAKS CORNERS, NEW YORK 14578 APPROVED | . :
ail: dlong@elderlee.com / epeek@eldriee.com SCALE SCHEMATIC

END COVER PLATE DETAIL

Tel:315-789-6670 Fax:315—-789-6615

DRAWING NO.F.R LAFAYETTE, PITTSFIELD




PLAN VIEW -

2" HOLES

172" HOLES
TOP+BOTTOM (TYPD
& REQ'D

113 T P,
2-113 ! il \__//
4
91" WITH 16-0" RAD 16" ' 3- 33"
l [l | 1 | | ]
T T T ™ T ™
[ | [} | [} { J
1 1 1 [} L} i 1
'x7; HOR SLOT CITEM # 16 - WW 3
3/87x4"x9-1/2" TOP+BOTTOM
SHIM PLATES
WPS#3016 4-REQ, ¢Rw/SLOT) B\ 5
e 5" [, ° | Ll
Y Ve X PeBaTTOM \ —3" b
/ 3“
_21_1" e == /—1“ Z -’— 3"
16 [ 7 8" &
Tt - | T T T T
I .
" — + ™
1 _— l__ ) ‘44" | ﬁ l —j- | TEPLIEVB"
—5 3/ l 1 \ 1 1 1 —I @1 "
1-_2n B-U].VB"F n 1 ! -
WPS#3007 15" reonr view 0 5/8 z"'IL A i
(POST SIDE (2X) | :
et 3" mmvlzv-ll"_ ITEM #:621.725 F.R. LAFAYETTE, PITTSFIELD ISHEET 70F8
HSS 5°x5*x5/16* ! ! CITEM # 14 .
St N , | | | 1 APPROVED BY: GUARD RAIL T0 BRIDGE RAIL TRANSITION DETAILS SHEET
I_, J I 1-?: ®§" X PITTSFIELD, ER BRF 022-1 (23), VT ROUTE 100, (MINOR ARTERIAL) BRIDGE 124
[ RS R 1:4—@\ 3 (2 ) TOWN OF PITTSFIELD, RUTLAND COUNTY, VERMONT
CITEM # 12 3 | \@1,, T /' R[{NO, DATE | DESCRIPTION BY| R [NO.[ DATE DESCRIPTION BY|
A" - SEE PLAN FOR TURN BACK DISTANCE, SET ANGLE L ' 13" i_{#_ | v EREVISED FER /12/14 MARKURIER) 7
- ] 1 | \'
ACCORDINGLY. (25° FOR WW 1, 2, 3, & 4 BACK VIEW CITEM # 19 | ol == DRAWN | Ep. | e
“B* - TURN DOWN ANGLE SET BY THE 9” MEASUREMENT AT CRAIL SIDE> — 4 ELDERLEE. INC. @ émmoﬂ CHECKED | DL | 219/t
THE END OF THE BOX BEAM. (FIELD MEASUREMENT REQ'D) ¥ xS CORNERS, NEW YORK 14575~ APPROVED | .
Mail: dlong@elderlee.com / epeek®@eldriee.com SCALE SCHEMATIC
Tel:315—789—6670 Fax:315—789—6615 DRAWING NO.F.R. LAFAYETTE, PITTSFIELD

THRU (2X)

- e — e

e

WING WALL 3

HSS 6x6x3/16"




SPLICE BAR - EXPANSION

@

e Ty,

Set @ 43" @ 68°F

1"x4" SLOTS, TOP
& BOTTOM OF TUBE

1o
I.242“_| |
=

s

N uJ
4

Galvanized Bar

&" Typ:

|
[
PLAN J
._5%

et e ]

EXPANSION SPLICE ASSY.

¥

ELEVATION

and the First Thread below the nut to be

damaged A.O.B.E.. 4 Bolts at Each Splice.

2.7
214
1o} -
A - EE
P J 3 I n o\
PLAN ewe /1
— Typ.
41/4" X 2 1/8" X 36" e
L I T
I —r H—— = I
= 1 et
ELEVATION T
EXPANSION BAR SPLICE
SPLICE BAR - FIXED
2'-3"
2'-0%"
——i " ‘I‘
3" VP a3 -
—2} 2%—_4) } 4 T [ o
T/ 8_°
o 2l N\ 7 " "
4 8 . Centerline of @1
/ PLAN 8 in Top & Bottom of
41/4"X21/8"X 2' 3" 5" X 8" X 114" Tube (Typ.)
Galvanized Bar [ | | | r-2gl" |
M — il -
[ I I
ELEVATION

FIXED BAR SPLICE

ELEVATION
FIXED BAR SPLICE ASSY.

5"x5"x5/16" @ 36"

Galvanized Tube
N\

Su
2
! T

o

4"x1/4"x35" Fill Plate
(Each side)

K (4) 3/4" Fully Threaded Bolts. 4 1/2" Long

(ASTM A325, TYPE 1) 2 Washers and a Heavy
Hex Nut on each Bolt. Nut to be Finger Tight

WPS 1025

2-9

4"x1/4"x 20" Fill Plate

ELEVATION

EXPANSION SPLICE TUBE

(Bottom)

SPLICE TUBE - EXPANSION

o3

v
G

5" X 5"X5/16"@2'3"
Galvanized Tube

4" X 1/4" X 26" Fill Plate

(Each side)

(4) 3/4" Fully Threaded Bolts. 4 1/2" Long
(ASTM A325, TYPE 1) 2 Washers and a Heavy
Hex Nut on each Bolt. Nut to be Finger Tight
and the First Thread below the nut to be
damaged A.O.B.E.. 4 Bolts at Each Splice.

WPS 1025

4" x 1/4" x 26" Fill Plate

PLAN

ELEVATION
(Botiom) FIXED SPLICE TUBE
| |
T l'l_ _LI ]
| — 7116 X" SLOT
1 Azl
"o view™ 5
—3

N2 5/8" (2%)

FRONT VIEW

CITEM 4 1O

34" X 5" X 3/8" ANGLE

PLAN VIEW

ITEM #:621.725

Set @ 43" @68°F

& BOTT

ELEVATION
EXPANSION SPLICE ASSY.

(ASTM A325,

Tight and the

damaged A.O.B.E.. 4 Bolts at Each Splice.

PLAN

Centetline of @ 1"
in Top & Botiom of
5" X 3" X 1/4" Tube (Typ.)

ELEVATION
FIXED TUBE SPLICE ASSY.

damaged A.O.B.

SPLICE TUBE - FIXED

F.R. LAFAYETTE, PITTSFIELD

1"x4" SLOTS, TOP
OM OF TUBE

(4) 3/4" Fully Threaded Bolts.7 1/2" Long

Heavy Hex Nut on each Bolt. Nut to be Finger

(4) 3/4" Fully Threaded Boits, 7 1/2" Long
(ASTM A325, TYPE 1) 2 Washers and a
Heavy Hex Nut on each Boit. Nut to be Finger
Tight and the First Thread below the nut to be

TYPE 1) 2 Washers and a

First Thread below the nut to be

E.. 4 Bolts at Each Splice.

| SHEET 8 OF 8

APPROVED BY:

GUARD RAIL T0 BRIDGE RAIL TRANSITION DETAILS SHEET

PITTSFIELD, ER BRF 022-1 (23}, VT ROUTE 100, (MINOR ARTERIAL) BRIDGE 124
TOWN OF PITTSFIELD, RUTLAND COUNTY, VERMONT

R|NO. DATE DESCRIPTION BY| R [NO.| DATE DESCRIPTION BY)|
El 1 3/i7/14 |REVISED PER 3/12/14 MARK-UP|EP| E
v v
g d UCERTIFIED DRAWN E.P. 2/18/14
ELDERLEE,INC. @ <FABRCATOR|| CHECKED | D.L. 2/19/14
OAKS CORNERS, NEW YORK 14518 APPROVED | . .
E-Mail: dlong@elderlee.com / epeek@eldrice.com SCALE SCHEMATIC

Tel:315-789-6670 Fax:315-789-6615

DRAWING NO.F.R. LAFAYETTE, PITTSFIELD




